Time:

Note:

QoSS

1.

Code: 082/ET/R/BL
FACULTY OF COMMERCE
B.Com. III-Semester (Regular/Backlog) Examinations, Nov./Dec.,-2019
Business Statistics-1

3 Hours Max Marks: 80
Section - A (Short Answer Type) 5x4=20M
Answer any FIVE of the following questions in not exceeding 20 lines each.
Bod S° DB 0 FBHH w858 20 HoKeBd oD waren (FA.
What do you mean by statistical error?

Keod &850 @i HED Bendd

Explain one dimensional diagrams.
D8 DBXree DBHEP KHBoN DHBOTHSW.

What are the limitations of averages?
BKene HBEH SH?

Distinguish between correlation and causation.
J5R0005A8 HBCK SPTUseEen $oworrdE Kgiie Brei Ben)k.

Construct a suitable bar diagram for the sales of 10 salesmen in a residential are:
2.8 Qard (@roBos® 10 DSBS B oiysred B arb DBDBerY) JBowHEw.

Salesmen (3&RS) A|B|C|D|E|F|G|H|TI|]J

Sales (Rs.'000) (eosiysen (80°1.°000) | 20|12 (18|16 10| 8 | 13| 12|16 |22

Note:
VIR

10.

Average marks of 150 students in a class are 60. Average marks of day scholars are 55 and hostel
students 70. Find out the number of day scholars and hostel students.
28 S8K8S° 63 150 doogtie Srien Lrednen 60. é@o&@% 5D Srednen 55 HBk Kﬁéeﬁ @Wéé{g@

Bijen Srednen 70. S8 ST Kod éﬁ"&og‘\) SB35 Ksséeg 8)(3236(80 Sogygs B o

From the following information find out quartile deviation and its co-efficient.
Upper quartile=90; lower quartile=50.
Bod DSoeer Hod zﬁéaq;o% DT 0830 ToQ 1HeaseR) Bk,

NN iSéoq;o%o=90; NN iSéoq;o%o=50.

From the given information find out value of correlation.
B0 Dore Dol JPKo0E Dendd B88)othHew.

bxy = 0.41; byx = 0.62.

Section - B (Essay Answer Type) 5x12=60M
Answer the following questions in not exceeding 4 pages each.
Bod BEHODH 2.8 o8 4 DefeoH WoI wdrad (TCHVLD.

a) “Statistics is a science of Estimates”. Comment.
“Negro8 FZo wodTre Yo" a‘ga)*’?g@oiﬁ)eﬁn.

OR@Bw)

b) Discuss the various methods of classification and tabulation.
58588 5605 HEB8H DG HEFHODH $GOoHID.

a) Describe the techniques of construction of graphs.
Bgredzeod @8&03 B8 B SpothHm.

OR@Bw)
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b) Construct histogram, frequency polygon and smoothed frequency curve for the following data:

Bod Sz20aR8 SrRF(PS, TSy I0gHE HOAW BB DSy $(EBpd DB 0.

Class (85158) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Frequency (°%:9850) | 4 8 17 23 25 20 15 5

11. a) Locate mode of the following data by grouping method.
BIHBIHDES 552078 (1FROR HEB Toe erSEER) KHBOoK.

X (1101520 (2530|3540 |45 |50 | 55| 60 | 65
F 2 4 (10|11 |17 (15| 9 5 3118 1 1
OR@Bw)

b) Calculate harmonic mean of marks of 80 students in a class from the following data.
e.8 B8RS 6y 80 o Dogie Bt 8no (Eod dgodo ok B&ohim.

Marks (55°&yen) 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No. of students (Dagthe Sosg) | 5 18 22 25 10

12. a) Following is the distance covered by buses in a depot in a day. Compute skewness by Pearson’s

method.
Bosdahadsd Srodo a8 &S adnen a8 B S8BAD Eroed) Jrdkod. Pl Ko HAHES

586" Bssmgy Heos S,

Distance (in kms)
Er80 (BSEErerss®) 10| 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90

No. of buses
(G éospé)

16| 20 | 29 | 49 | 61 | 42 | 23 8 2
OR@Bw)

b) By using the following information, find out which company earns more profits and which

company profits are more consistent.
BIHH BT20F0H GIDPALIT O oD JEND ergren Kol LB O BoDd ergren JEND

R, EON 6o&° BOHEWD.
Particulars (Qdoren) Company A | Company B

Average Profits (Rs.’000)
K5en ergren (B, ‘000)

Variance (23,)8) 136.89 289

56 68

13. a) Calculate Karl Pearson’s co-efficient of correlation for the following data.
Bob $5207°A8 SPELADES DKoo HeeseR) B&)oHsw.

X 60 | 20 | 100| 40 | 80 | 50 | 70
Y 90 | 110| 50 | 80 | 70 | 60 | 40
OR(Ew)

b) Compute correlation by concurrent deviation method from the following data.
BPS DIoTee a/scgé’éé’s Bod Szrodo ol Jedowonrd) XK.

X | 50 | 52 | 55 | 58 | 55 | 52 | 54 | 60
Y |80 |78 | 75|72 | 75|71 ] 70| 69

WE®R



